Series and Sequence Review

1.  A house worth $80,000 sold for $117128 four years later.  Find the annual rate of increase assuming the value increased geometrically.
2.  For a compact car the cost of maintenance and repairs increased by $80 each year.  If in the first year the amount was $110, how much was the maintenance at the end of year five?
3.  As it aged a maple tree produced sap according to the pattern shown in the table below:

 [image: image1.png]Year 2001 2002 2003 2004

Sap (Litres) | 5=60.000 | £,=57.000 | £=54150 | t,=51.4425





a)  Does the data follow an arithmetic or geometric sequence?

b)  Write down a formula for  
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c)  Assuming the pattern continues how long will it take for the sap production to be 22.64L?

4. Write the recursive rule for each of the following: 
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b)  1, 2, 2, 4, 8, 32,… 

5.  Find the sum
a)  
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b)  
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c)  1 + 5 + 9 + … + 77

d)  
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6.  Find “a”, “r”, and the sum of the first 5 terms of this geometric sequence.
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7.  In an arithmetic series 
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.  Find the first three terms of the series. 
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